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RZE——F—A-B(EER) 20,598 459,866 56 8,833 (8,701) 7,451 626,656 1,114,759 14948 1,129,707
REBEF — — — — — — 80,259 80,259 411 80,670
BERERELEZER
ABEELRERA - - - - 15,650 - - 15,650 35 15,685
TER2ERAEE — — — — 15,650 — 80,259 95,909 446 96,355
TEARERREEEIRG 5 437 — — — (81) - 361 — 361
RRABEERDFR — — — - - 539 — 539 — 539
BRMBMIE — — — - — (1,108) 1,108 — — —
RERE-—E-TF — — — — — — (12,907) (12,907) — (12,907)
R-Z——#xA=tH
(REEZ) 20,603 460,303 56 8,833 6,949 6,801 695116 1,198,661 15394 1,214,085
KHREF - — — — — — 70,567 70,567 (305) 70,262
BEPERELZER
AL 2EEA — — — — (10,062) — — (10,062) 20 (10,042)
TER2ERAEE - - — - (10,062) — 70,567 60,505 (285) 60,220
EARREEEEIRG 1 69 — — - (10) - 60 — 60
EERH (71) — 71 — — — (3,817) (3,817) - (3,817)
RRAEERHER - — — — — 514 — 514 — 514
RESI & — - — - — (697) 697 — — —
mERE-—2——F - - - - - — (10,347) (10,347) (6,557) (16,904)
RZE——F+ZA=1t-Bk
—I-—F-B-B(EER) 20,533 460,372 127 8,833 (3,113) 6,608 752216 1245576 8552 1,254,128
REBEF = = = = = = 96,362 96,362 2 96,384
BEPERELZER
AL 2ERA = = = — (1,456) — - (1,456) %) (1,458)
TER2ERAEE = = = = (1,456) - 96,362 94,906 2 94,926
EARREEEEIRG 5 508 — = = (138) = 375 — 375
BERH 43) = 43 = — — (3,870) (3,870) — (3,870)
BRRALEBRAMT = = = = = 206 - 226 — 206
BRM = = = = = (1,987) 1,937 - — -
HBMARES 2871 143,330 — (8,833) = = = 131,374 — 137,374
RERE-—F——% = = = = = — (18,185) (18,185) — (18,185)

RZ2-Z%XA=1H
(REER) 23312 604,210 170 - (4,569) 4,759 828,460 1,456,402 8,572 1,464,974
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